@ x=-2EEx=3

2FE=x=-3

X =

)

e

X = —

0
2x+3=0

(3x—2)(2x + 3)
3x-2=0%

=
—




v V. v Vv
0
L
=
[

x(x+5)=2x,x>+5x-2x=0
¥ +3x=0,xx+3)=0

Lx=0EEx=-3




Zre 2ol x2—ax—6a =09 2L o}, a 9

@0  @n ® 4




@ x*-6x=0

© 2x2=8x-38

ogt. @A @224 @3 © 4%

B

©® 2x% = 8x -8,
2x% - 8x+8 =0,
2(x-2)2=0
L x=2(3D)




7t

oju

OIZMYAA ¥ - 10x = a 7} T

@ -2

® -10

@ 100

@ -100

@ 25

B

¥ -10x=a —» x*-10x—a=0
-10\*
2

Soa=-25

(




O|ZPTH A x2 —ax-5a-3 =10 2] g
gte Tetolat

> E:

==V

B

2o

169, a9} ohe g 29

ol olBE=
Fo171 Aof x B4l 6 = tidstH
62—-6a-5a—-3=0
33-11la=0

La=3

Fo17l Aofl a thAl 3 & tidstH
x> -3x-18=0
(x=6)(x+3)=0
x=6%EEx=-3 (4=

L a+ (R @ ) =3+ (

rot

=)
-3

)=0




SOl A 2x2 4t mx—-3 =0, 2 +x+n =02 L&

Ao, m+ne @27

O -11 2Y-1 3 1 @ 8

Ql

7t x = -3

® 11




O)ZFAA 4(x +a)? = b(b > 0) O] 7t x =3+ V5 A o, Hal
a,b 0] & a+ b 9] F-Z& ot

> &

=

B ‘

(x+a)2:Z°ﬂ/"1x+a:-_|-\/§,x=—ai \/golEi
a:—3,b:20

La+b=17




9. oA AX+8x-4=0= (x+a)’=bJEZTH T, a+b 9
29

&

®20 @ ® 28 @ 32 ® 36

B \

X2 4+8x-4=0
(x+4)2-4-16=0
(x+4)% =20
a=4, b=20
Ta+b=24




10. SAAFAE o] 8ot thx o|Apg A S E wfj, I Loz gt
29
3x2-8x+1=0
2+ 413 4+ 13 4+ 13
@ 3 @ 2 @ 3
@ 2+ V13 6 -4+ V13
2 3
oFHof 3 & U+
8 1
x2—§x—|—§:0,
8 1
2 _ — __
X 3x 3,
x2_§x+E—_l+E
3 9 3 9
2
(r-2) =B 12 VB gy




